


Title: GUY ATTACHMENT, DOWN GUY FOR NEUTRAL / SECONDARY Rev. Date: 2/4/2015

Pic # Description IBM NO. Qty
1 PREFORM GRIP DEAD END 3/8" GALV 285-22-16102 1
2 BOLT MACHINE 3/4" X 14" W/NUT 285-08-10814 1
3 WASHER SQ. CURVED 3"X3"X1/4" WITH 13/16" HOLE 285-08-15305 1
4 BOLT MACHINE 5/8" X 14" W/ NUT 285-08-10788 1
5 ATTACHMENT GUY TO POLE 3/8" TO 9/16" 285-39-10289 1
6 DEAD END 3/8" DOWN GUY LONG 285-22-16120 1
7 WASHER SPRING DOUBLE COIL 3/4" 500/BX 285-08-85425 1
8 WASHER SQUARE 5/8" 250/BX 285-08-15320 1
9 WASHER SPRING DOUBLE COIL 5/8" 500/BX 285-08-85430 1

Construction Standard No. OH-1724

Garland Power & Light

OH-1724


	OH-1724 Pictorial
	OH-1724 Material List
	Sheet1


